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inti;
byte b = (byte) i;//fBintEELIBH|EE(L obyte
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double dou = 1;

String str = Double.toString(dou);//double3&#String
float fl;

str = Float.toString(fl);//float¥&##String
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intin=1;

String binary = toBinaryString(in);//—i#l|
String octal = toOctalString(in);//) \i#t#!
String sex = toSexString(in); //+7~##|
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String str = "1";

byte by = Btye.parseByte(str);//4&in=FT55Y
Integer in = Integer.parselnt(str);//&& 1N EERY
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boolean-exp : booleanZzRiX=
valueO : truefd#iT
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long a = 100L (K/NELEFRILA)

float b = 1000F  (A/NEFEBETLA)
double c = 10000D  (A/NEDHEBAEILA)
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